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HIM: Lol NN 22
el KAl =29 (Crel: &)
A - BE - BRI(E) - KIRA - BAS ofl e Gl imE=T
A2t 921,738 843,275 78,463
= 111,240
[ 14,909
Al 795,589
SAQE R 22 884,438 807,475 76,963
= 111,240
[ 14,909
Al 758,289
NETIREEE! 572,624 522,043 50,581
[ 14,909
Al 557,715
XA 28 @4 356,894 340,647 16,247
201 L2 S| 180,926 222 582 N41,656
01 AF222IHI 79,126 109,002 129,876
XILAIGHE, AALEE AL E
100,000 %255 2,500
KA HHE 50,0002 %405 2,000
KISEHISE DXICHHA Q14
70,0002 x258t A% 128 21,000
X 2ol E22 MR
55,0002 %1794 A *103] 9,350
DA SR HART]
50,0002 +73]* 12 4,200
NSHAQHE| B
100,000 * 122 %43 4,800
SN Sl 9,000 *7%x 11U 12 8,316
KAl - MU R 2225 S 22,000
XTI LA ARSI 1,000
NSNS ME OI0IKIZRIAAE SXB2
330,000 %12 3,960
02 2229 101,800 113,580 A11,780
)2, +A2 XLAl DXA s QB2 55,000
XA 28 8 o2 2Eez 46,800
202 OiH| 4,000 4,000 0
01 2LH0IH 4,000 4,000 0
T NRUARLZLY HEE| EA
100,0002 *13]%20H 2,000
eSSV = 2,000
204 Z 24 AHH| 45,000 30,000 15,000
02 SHALHHI 45,000 30,000 15,000
HRSYBR2 AD46 S5Y)|
150, 00024 +25% 128 45,000
301 YEHEAS 10,000 10,000
14 JIEH2 42 10,000 10,000 0
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Fu: Sagls UFEHE 22
el XAl =29 CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
QELA X 10,000
303 A2 3,000 3.000 0
01 &3 3,000 3.000
seHe 22 3,000
308 XKIXIHH SOIA 113,968 71,065 42,903
13 ZOI2SOICHEFE AR P EAIIH 113,968 71,065 42,903
THMICH RISHIEEAIAR 22212 113,968
Ao & 113,962 122,732 8,770
201 YeH2 | 93,562 102,332 A8,770
01 AFR22IH 35,622 44,392 £8,770
SO =5 300, 000241024 3,000
TS 2HEI} 242
100,000 %2021 2,000
SEDNA. Mg M=
70,00024+202t Ax 122 16,800
HIBLF L ASTFIANE 42 6,792
IDIRE S AAHO0IEE 3,960
DX Cl Ha 23 550
M= - OF2FE X S20HAIH]
9,0002*1024x283] 2,520
02 S =2 57,940 57,940 0
SEDNN Hge2 s 2ue3 38,500
ARISHLI| SARB
50,0002 *2CH* 122 1,200
NE=l] 200,00024*x2CH* 128 4,800
NSHHST AXAA(XIZ) SA2S
400,000+ 122 4,800
NSHAHST ANHL TS| K24
400,000 * 122 4,800
ARAIAE DS 2F RAPS
320,00024* 128 3.840
202 01t 3,900 3,900 0
01 =LHoH 3,900 3,900
29| DHHGX M4 (ZATRE)
130,0002*1024*33] 3,900
303 ZA&2 16,500 16,500
NEZE] 16,500 16,500 0
HeN3AS(S. 8.8 Za) 5,000
NGRS 1,500
HeE 24012(8.2.5) 10,000
FOISE FY QHEE 3,000 3,000
301 YLEHEH2 3,000 3,000 0
14 JIEF2 A2 3,000 3,000 0




SA: K2
I Sa0= AEHR 22
el XAl =29 CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
MoIXt WEAGHES Jrel U Hism Wil
HIZ X 3,000
HAGNX QIHEE HZ 30,000 30,000 0
301 LBEAS 30,000 30,000
14 JIEF2 A2 30,000 30,000
XISl AR QIMEIE HIZ
50,000246002 30,000
XLASH ADHEH 2 16,500 16,500 0
201 L2 A 16,500 16,500 0
01 AFR22IHI 8,500 8,500
bt42Y| 2,000
OH{E, AlDA M 2,000
B0 Q2B =222 HF 3,000
ARSI L2 1,500
02 222 8,000 8,000 0
OHYE, MDA RERZ
20,00024*400 8,000
NEIERSBIERSES=] 9,449 9,164 285
306 £012 9,449 9,164 285
01 &2 9,449 9,164 285
XLAAPE TXSHHE =2
78,736,000,00024%0.012% 9,449
HANXHBHE 2 29,818 0 29,818
[ 14,909
Al 14,909
101 Q124H| 29,818 0 29,818
[ 14,909
Al 14,909
M IIHR22ISEES 29,818 0 29,818
HAIXRI 2 2HIE 29,818
[ 14,909
Al 14,909
KIZEAl HIDHAL - 228 SRR AL 13,001 0 13,001
101 Q124H] 13,001 0 13,001
04 2RISR 13,001 13,001
2= 80,2402 %2 X x432! 6,901
FH+d 80,2402 x2H*8L 1,284
E=PNE=, 80,240 x2Hx2 2 321
=gt 140,000 x22 =22 560
EZ0I 20,0002 x2H*20 L *22 1,600
mE=l| 95,0002 x2H*2& 380
AHEE 1,955
oheE e e 222,480 221,300 1,180




ord
K]
OH
[l

(@) (@) (e} (@]
S S 3 &
A0 - - -
K0
3
=
o o (e} (e}
(@) (@) O O
3 3 = S
— o H (o]
LY 3" & S &
iEd)
RIS
SSeSSBeeB 2888288 288888 2888338888 88888:¢8
IIRFIJIRINRIEFSSS3ss 899I FY 89S ddREBETISsx 353 B83a8dAds
- — |l - — |- o o]l © UL Vv N — — <~ ol A U N L R N - — A - — O
-_ -l - — |l = == = N — — re} -
- — 8N - |8 - — | —
1
M_
=)
w=| mm=| = M=M= o= M=M= o= M= om=
Iof Iof o
(e} (e} [aN]
O o X
3 3 30
O N N Z
X0 g g g
By g g g
30 _ S
— D
=3 =
I = i
=3 3 uE.A
m U ol
= K
) R
¥ o|_ 5
ol =] ill o =
o o) _J_| m._.o
= i i 0p
.__Mm oF Kk Mo
d = il 0
% 5 h ©
[




SN HRD
Y S0l UFENR 22
R0 OHEE 2 (St M 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
NEFEDA ZHENE 2BRS
43091%24,0005 10,320
=2 5,160
Al 5,160
202 oitl 1,000 1,000 0
2 500
Al 500
01 =LHOIHI 1,000 1,000 0
HEFHSHEA X 1,000
=2 500
Al 500
Hlel+e 2 89,334 64,132 25,202
Hi2l+el 2= 89,334 64,132 25,202
201 YLEr2 | 19,781 19,641 140
01 AL22r2lH| 11,981 11,841 140
H2l4e 42F 100, 000835 300
ML= DX A 70,000 %1028+ A 7,140
J|RAAIIRE] &g
100,000 x5 *43| 2,000
HTBLE L A4 2,541
02 22| 7,800 7,800 0
Hga2eAAed STt
400,00024 128 4,800
HEDIAN L HHS 2 2Be3 3,000
202 o1t 1,000 1,000 0
01 =LHoIHI 1,000 1,000 0
HII4el a5 clzts| S &40 1,000
303 ZA2 5,000 5,000
01 Z&3 5,000 5,000
M2 R &4 5,000
308 KFXISHHISOIX 63,553 38,491 25,062
13 2II2SOIHEHZ AP AL 63,553 38,491 25,062
HIQI U EHAIAR SXIE4 63,553
EREEEL 37,300 35,800 1,500
PIEEE] 37,300 35,800 1,500
PIEEE] 37,300 35,800 1,500
201 e | 13,000 13,000 0
01 Al22r2|H| 10,000 10,000 0
24| 10,000
02 222ZH| 3,000 3,000 0
zz2e3 2 JAl 250,00024% 122 3,000
202 o1t 15,000 15,000
01 =0l 15,000 15,000 0
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